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Note: This question paper consists of THREE Sections - A B and C. _—
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SECTION - A
{  Very short answer type questions - 0 :
: ~ .
(i) Answer ALL the questions: (j];
(ii) Each question carries TWO marks. %
/" Transform the equation 4X - 3y + 12 = 0 into (#Fslope -
intercept form (b) intercept form.
E}Aﬂd the pcrpendicuiar distance from the point (=3, 4) to the
/uaighi line 5x = 12y = 2.
” Find x, il the distance betweel 5. «].7N: . ,
& (ﬁh-h!-: and (X, 3, !‘)y 9 units,
4. Find the equation of the plane Whose ; y tha
Intercepts 0@, e i
axes are 1,2, 4 respectively. =~
, O
. Sinax
5. Compule Ll_t:% sinhx’b +0,a #b. %
O
6. Compute lim~—— oo
x-2 X348’
/ Iy =log (sin (lo wo
‘ g %)), then find < ]

R R

246152-193-G2 ﬁ |
1

a2 ?

w-nrt+r-|¢t*+?’

R R

- &

LR I R e e 3
+ * 44



i b b T U A W I A R R A R R |

_ o ‘ L 2x
§'. Find the second order of derivative of y = tan I (l—xz)l

R

9. Find Ay and dy for ﬂ}i? function y = 5x2+ 6x + 6, at X =2 and
) “
Ax =0.001. B
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SECTION - B

Frtddoed

II. Short answer type questions -

(i) Aniswer ANY FIVE questions.

(ii) Each question carrj§§ FOUR marks.

-
:

/ A(1,2), B(2,-3) andiﬁ{-l 3) are three points. A point P moves
such that PA? + PBY= 2PC2. Show that the equation to the
locus of Pis 7Xx =7y + 4 = ).

)&/ When the axes are rotated through an angle 45°, the

transformed equation of a curve is 17x%- 16xy + 17y* = 225.

Find the Orlﬁ:l“:I Equﬁtlcm of the curve.
13 1f the straight lines ﬁ'x +by +c=0,bx +cy+a=0and

Cx =0a
+ay + b =0 are :mnunrrc.u then prm’e that

a'+ b4 ¢f = 3abc,

p cusy 4 §i
14. Smpute hrm "_“"——"—1
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-------- 44**J'+,-*:J+"f*‘+1hilf+
»

++¢r+rt**“**’**t+samq~-s
16 Find the equation of tangent and ngrmal to the Curve y = x2

(0, 0). g:]
() ]
17. Find the point on the curve }%T x* - 11x 4+ 5 at which the
5 &
: tangentisy =x = 11.
SECTION - C

[II. Long answer type questions -

(i) Answer ANY FIVE questions.
(ii) Each question carries SEV]Egmarks.

> :
18. Find the circumcentre of the tr%gle whose vertices are (1, 0),

Q0
(-1,2) and (3, 2).

?/Show that the product of the perpendicular distances from a

point (x, B) to the pair of straiélﬂ lines ax2 4. 2hxy + by?= 0 is
Crn

';:'
jac +2hap+bp’| g-f%
~ Jta—b)?+4h? o

e . ines joining th ., . .
20 ghow that the lines } g the Origin o s points of

. i = ‘1-
iptersection ol the curve X~ = Xy + y?

+3x+3y_2,;(}und the

! poy ;
graght line x =y *© V2 =0 are MUt .
5 Y pe . ,ﬂ'dlculi‘r'

2 l-ni'iIhc;flin-l'lln!lI'H'anu_-xnl'l“’““llu.\;

Whick B connected by
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3x—x ol ( 4x—ax®
- fa
)+ tan 1— 3){2) = 1—6x24x41 )’ then

+ L.
.l*"""‘-r YT Y -I-4-+++-II""'***

f‘-t._‘**

-
d 1
prove that H% =T h‘ 5:.
8

23. Find the angle between ﬂ'IE: curve xzy =4: y(xz +4) =

=

/4/ H‘ the [angen[ at any- Emnt P on the curve x™y" = am '
(mn # b}meets the co@imate axes in A, B, then show that

(0
AP : BP is a constant.
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